USING A CALCULATOR


1.
(a)
Work out 3.72
..................................................................................................................................

Answer ..................................................................

(1)

(b)
Work out the cube of 4

..................................................................................................................................

Answer ..................................................................

(1)

(c)
Work out 3 ÷ 0.72
(i)
Write down the full calculator display.

Answer ..................................................................

(1)

(ii)
Give your answer to the nearest whole number. 

Answer ..................................................................

(1)

(d)
(i)
Calculate [image: image1.wmf]2
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Answer ..................................................................

(1)

(ii)
Give your answer to an appropriate degree of accuracy.

Answer ..................................................................

(1)

(Total 6 marks)

2.
Calculate the value of
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(a)
Write down the full calculator display.

Answer...............................................................................

(1)

(b)
Give your answer to three significant figures.

Answer...............................................................................

(1)

(Total 2 marks)

3.
Find the value of  [image: image3.wmf]2

2

82

.

17

1

.

29

-


(a)
Write down your full calculator display.

......................................................................................................................................

Answer ...............................................................

(1)

(b)
Write your answer to 3 significant figures.

......................................................................................................................................

Answer ...............................................................

(1)

(Total 2 marks)

4.
(a)
Find the value of    [image: image4.wmf]2
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......................................................................................................................................

Answer .........................................................................

(2)

(b)
Use your calculator to find the value of    [image: image5.wmf]51
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Give your answer to an appropriate degree of accuracy.

......................................................................................................................................

......................................................................................................................................

Answer .........................................................................

(2)

(Total 4 marks)

5.
Use your calculator to find the value of [image: image6.wmf]2
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Answer ...........................................................................

(Total 2 marks)

6.
You are given that


AB = [image: image7.wmf](
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Use your calculator to work out AB.

(a)
Write down your full calculator display.

Answer ................................................................... cm

(1)

(b)
Write your answer to 3 significant figures.

Answer ................................................................... cm

(1)

(Total 2 marks)

7.
Calculate
[image: image9.wmf]61
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9

+ 2.912

Give your answer to 3 significant figures.

...............................................................................................................................................

...............................................................................................................................................

...............................................................................................................................................

Answer .......................................................................

(Total 2 marks)

8.
Use your calculator to work out [image: image10.wmf]2
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(a)
Write down the full calculator display.

Answer ..................................................................

(1)

(b)
Give your answer to 3 significant figures.

Answer ..................................................................

(1)

(Total 2 marks)

9.
Calculate the value of
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Give your answer to three significant figures.

...............................................................................................................................................

...............................................................................................................................................

...............................................................................................................................................

Answer ...................................................................................................

(Total 3 marks)

10.
Use your calculator to evaluate [image: image12.wmf]12
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................................................................................................................................................

................................................................................................................................................

Answer .......................................................

(Total 2 marks)

11.
Use your calculator to find the value of
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............………........…………………………………………………………………………

............………........…………………………………………………………………………

............………........…………………………………………………………………………

Answer ................................................

(Total 2 marks)

12.
Use your calculator to find the value of
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................................…………………………………………………………………………

................................…………………………………………………………………………

................................…………………………………………………………………………

Answer ............................................

(Total 2 marks)

13.
Use your calculator to work out       [image: image15.wmf]3
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(a)
Write down your full calculator display.

Answer  ...................................................

(1)

(b)
Give your answer to 2 significant figures.

Answer  ...................................................

(1)

(Total 2 marks)
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